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Each problem is worth 4 points.

1. Find the inverse of the linear transformation T (x, y) = (5x + 6y, 4x + 5y).

2. Evaluate det A by reducing A to a triangular matrix.

A =


2 2 2 2
1 3 1 3
−1 0 4 3

0 5 −3 −2



3. Write the matrix

[
2 3
3 5

]
as a product of elementary matrices.

4. Find the solution for z using Cramer’s Rule.

x + 2y + 3z = 3
2x + 9y + 3z = 11
x + 4z = 1

5. Find a number k such that det

 2a1 − b1 2a2 − b2 2a3 − b3

7c1 7c2 7c3

a1 + b1 a2 + b2 a3 + b3

 = k det

 a1 a2 a3

b1 b2 b3

c1 c2 c3

.
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